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Step 1 : Channel 14 bbq-tdc vs bbq-adc
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Step 1 : Channel 30 bbq-tdc vs bbq-adc
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Step 2 : Channel 30 bbq-tdc vs bbq-adc
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Step 2 : TPC vs. VPD z Vertex using <East> & <West>
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Step 3 : TPC vs. VPD z Vertex using <East> & <West>
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Step 6 : Channel 30 bbq-tdc vs bbq-adc



VPD - zTPC z
200− 100− 0 100 200

 [#
]

210

310

410

510

Step 6 : Outlier Rejection

it5All
Entries  1134074

Mean    2.492

Std Dev     25.13

Step 6 : Outlier Rejection

 [cm]VPD - zTPC z
20− 0 20

 [#
]

310

410

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

it5avg
Entries  144144

Mean   0.2897

Std Dev       8.7

 / ndf 2χ   1303 / 7

Constant  1.048e+02± 2.776e+04 

Mean      0.020948± 0.004636 

Sigma     0.019± 7.216 

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

0

2000

4000

6000

8000

10000

12000

14000

16000

Step 6 : TPC vs. VPD z Vertex

TPC z
100− 50− 0 50 100

V
P

D
z

100−

80−

60−

40−

20−

0

20

40

60

80

100 it5zTPCzVPD

Entries  1134074

Mean x   2.645

Mean y    1.28

Std Dev x    26.4

Std Dev y      29

Step 6 : TPC vs. VPD z Vertex

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

 [cm]TPC z
100− 50− 0 50 100

 [c
m

]
V

P
D

z

100−

80−

60−

40−

20−

0

20

40

60

80

100
it5zTPCzVPDAvg

Entries  144144

Mean x   1.185

Mean y 0.1483− 

Std Dev x   27.86

Std Dev y   29.42

Step 6 : TPC vs. VPD z Vertex using <East> & <West>



it5nAcceptedEast

Entries  1216123

 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

310

410

510

610 it5nAcceptedEast

Entries  1216123

East

West

East

West

Step 6 : # of Accepted Detectors

 # of Pairs
0 10 20 30 40 50 60 70

 [#
]

1

10

210

310

410

510

610

Step 6 : # of Valid Pairs

it5nValidPairs

Entries  1216123

Step 6 : # of Valid Pairs



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 0 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 0 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 1 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 1 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 2 Resolution Fit

 / ndf 2χ  3.889 / 4

p0        0.0055± 0.3638 

 = 0.363843 [ns] σ

/DOF = 0.9721402χ

Detector # 2 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

Detector # 3 Resolution Fit

 / ndf 2χ  0.9178 / 4

p0        0.0043± 0.3213 

 = 0.321256 [ns] σ

/DOF = 0.2294522χ

Detector # 3 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 4 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 4 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 5 Resolution Fit

 / ndf 2χ  25.06 / 4

p0        0.0033± 0.2889 

 = 0.288906 [ns] σ

/DOF = 6.2651452χ

Detector # 5 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 6 Resolution Fit

 / ndf 2χ  7.236 / 4

p0        0.004± 0.329 
 = 0.329028 [ns] σ

/DOF = 1.8089142χ

Detector # 6 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 7 Resolution Fit

 / ndf 2χ  6.216 / 4

p0        0.0048± 0.3225 

 = 0.322490 [ns] σ

/DOF = 1.5540702χ

Detector # 7 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 8 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 8 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

2.5

3

Detector # 9 Resolution Fit

 / ndf 2χ  15.49 / 4

p0        0.0039± 0.2757 

 = 0.275688 [ns] σ

/DOF = 3.8725162χ

Detector # 9 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

Detector # 10 Resolution Fit

 / ndf 2χ     15 / 4

p0        0.0040± 0.2849 

 = 0.284877 [ns] σ

/DOF = 3.7492592χ

Detector # 10 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

Detector # 11 Resolution Fit

 / ndf 2χ  17.32 / 4

p0        0.0041± 0.2846 

 = 0.284572 [ns] σ

/DOF = 4.3306492χ

Detector # 11 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 12 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 12 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Detector # 13 Resolution Fit

 / ndf 2χ  3.725 / 4

p0        0.0038± 0.2924 

 = 0.292429 [ns] σ

/DOF = 0.9311492χ

Detector # 13 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

Detector # 14 Resolution Fit

 / ndf 2χ  28.46 / 4

p0        0.0032± 0.2655 

 = 0.265543 [ns] σ

/DOF = 7.1151922χ

Detector # 14 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0

0.2

0.4

0.6

0.8

Detector # 15 Resolution Fit

 / ndf 2χ  9.162 / 4

p0        0.0035± 0.2838 

 = 0.283781 [ns] σ

/DOF = 2.2905812χ

Detector # 15 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 16 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 16 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 17 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 17 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 18 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 18 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 19 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 19 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 20 Resolution Fit

 / ndf 2χ  82.58 / 10

p0        0.0008± 0.2273 

 = 0.227267 [ns] σ

/DOF = 8.2582602χ

Detector # 20 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 21 Resolution Fit

 / ndf 2χ  73.66 / 10

p0        0.0008± 0.2262 

 = 0.226171 [ns] σ

/DOF = 7.3664262χ

Detector # 21 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 22 Resolution Fit

 / ndf 2χ  49.68 / 10

p0        0.0008± 0.2261 

 = 0.226126 [ns] σ

/DOF = 4.9681332χ

Detector # 22 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 23 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 23 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 24 Resolution Fit

 / ndf 2χ  7.354 / 10

p0        0.0009± 0.2556 

 = 0.255553 [ns] σ

/DOF = 0.7354322χ

Detector # 24 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 25 Resolution Fit

 / ndf 2χ  48.44 / 10

p0        0.0008± 0.2467 

 = 0.246679 [ns] σ

/DOF = 4.8444072χ

Detector # 25 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 26 Resolution Fit

 / ndf 2χ  37.02 / 10

p0        0.0008± 0.2493 

 = 0.249277 [ns] σ

/DOF = 3.7024652χ

Detector # 26 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 27 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 27 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 28 Resolution Fit

 / ndf 2χ  17.09 / 10

p0        0.0010± 0.2581 

 = 0.258064 [ns] σ

/DOF = 1.7093602χ

Detector # 28 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 29 Resolution Fit

 / ndf 2χ  25.79 / 10

p0        0.0012± 0.2936 

 = 0.293591 [ns] σ

/DOF = 2.5792022χ

Detector # 29 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 30 Resolution Fit

 / ndf 2χ  27.54 / 10

p0        0.0009± 0.2603 

 = 0.260313 [ns] σ

/DOF = 2.7542602χ

Detector # 30 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 31 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 31 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 32 Resolution Fit

 / ndf 2χ  27.13 / 10

p0        0.0010± 0.2679 

 = 0.267931 [ns] σ

/DOF = 2.7128072χ

Detector # 32 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 33 Resolution Fit

 / ndf 2χ  23.81 / 10

p0        0.0010± 0.2647 

 = 0.264705 [ns] σ

/DOF = 2.3814802χ

Detector # 33 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

Detector # 34 Resolution Fit

 / ndf 2χ  13.58 / 10

p0        0.0010± 0.2686 

 = 0.268637 [ns] σ

/DOF = 1.3583972χ

Detector # 34 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 35 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 35 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 36 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 36 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

Detector # 37 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 37 Resolution Fit



Detector
5 10 15 20 25 30 35

 R
es

ol
ut

io
n 

[ n
s 

]

0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

Detector Resolution

 / ndf 2χ   6896 / 22

p0        0.0003± 0.2517 

 = 0.251724 [ns] σAverage 

Detector Resolution


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24


